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General Instructions :

(i) Answers to questions carrying 1 mark may be from one word to

one sentence.
(i) Answers to questions carrying 3 marks may be from 50-75 words.

(iii) Answers to questions carrying 4-5 marks may be about 150

words.
(iv) Answers to questions carrying 6 marks may be about 200 words.

(v) Attempt all parts of a question together.

1. focfem faofai o @ forelt v foofar g0 foefiar werer o aferaf &1 stmeRR
SIYEAT T Wi i it & | ol 1 A Sd gY 39 3o
FHifSTT |

The size of assets, the profitability and competitiveness are affected by

one of the financial decisions. Name and state the decision.

2. o9 % 39 SR I A FATRC S SUMIRIS Sl BH o IcdTal hl g1 o §
TEfAE R |
Name the marketing function which is concerned with informing the

customers about the firm’s products.

3. TfteRt wd gt s fop o e -fesmsm €, 3 o1t “heme wrgae fafiee’
FHEH TATMUT S o TC T TiTs HeH FeSeR S[@e @ Al 38 & |
3 faota forer foF 3 fea & ue e Tama qun ym o w UgE Hve
Tesgam gxem il TasT 90eT o foTT hiferT SHeqiaTl 1 SARSH hTl | il
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T & TTT 381 918 o 9o o1 JuW ad fohe R fora | 37em g @i
37k ferenfofat =t Aeg Y wfaferfiat yem s § grar o | I quiey 8 STd
T Tk 37R1 SHTHTE FTEH 1 &R 3A1 81 © T o BIEIhidIeT i &Hal o
9T I S AT, o WIerehidl A Giied & o’ H e s @ o |

e igae fafee’ o wad o Jg@™ | Y qon wer et filed wmgae
fafies’ & 9m @ s fifen qon Remd 1 e 9o ® 9 |l A
YA & Tk foRam 3R 97 wEaE @ Tk sterm-otem fafrem foe fomm o
T et T wireRdt mefa @il fmee s gt o g fohen e |
T $HE HeHd gl T |

e gae fafiee’ it womh ISt sTavehdre sl YWTfad s aTel 92
! qgaTY | 1

Radhika and Vani who are young fashion designers left their job with a

famous fashion designer chain to set-up a company ‘Fashionate Pvt.
Ltd.” They decided to run a boutique during the day and coaching
classes for entrance examination of National Institute of Fashion
Designing in the evening. For the coaching centre they hired the first
floor of a nearby building. Their major expense was money spent on
photocopying of notes for their students. They thought of buying a
photocopier knowing fully that their scale of operations was not

sufficient to make full use of the photocopier.

In the basement of the building of ‘Fashionate Pvt. Ltd.” Praveen and
Ramesh were carrying on a printing and stationery business in the name
of ‘Neo Prints Pvt. Ltd.” Radhika approached Praveen with the proposal
to buy a photocopier jointly which could be used by both of them

without making separate investment, Praveen agreed to this.

Identify the factor affecting fixed capital requirements of ‘Fashionate

Pvt. Ltd.’
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4. 3T "GISHIHS @™ o IH SATSC, SI I -3k o ST 3hl FHIEAHIIAAT
FEET AR |

Name the type of ‘organisational structure’ which promotes efficiency in

utilisation of manpower.

5. ‘USFY %M FEM ohl URAT B | 38 YT H UIH AT e % 3 A
Ioeid T |

‘Management is the process of getting things done.” State the meaning

of the term ‘process’ used in this statement.

6. TIS A Uk TH gMHER & o &1 s Yohe Wltet qe urn foh 3ueh o
W f3U MU STeRa TE 9 9 AE U S Gehd o | 39 39! RTeRrra ot |
1 | T foTfad STEm=AT 9Sid g T 5 I8 Seor@ foRa ok 3 o7 fHfeea
H1 foh TSR & foem™ Yohel o1 33T ot ST den Sieg & gu1ed wiedli &
1Y TSR H T ehe 3Uatsd Y U S|

TS A ST IuHIehT SRR 1 TART FoRAT SHHT Ieerd hITTT |

Manuj bought a packet of chips from a local shopkeeper and found that

the ingredients given on the label were not legible. He complained about
it to the company. The company sent a written apology stating that they
will make sure that existing packets are withdrawn from the market and

new packets with legible labels are soon made available.

State the consumer right which Manuj exercised.

7. AR ST o Teh dcd o &Y H IETIcd o1 7Y T8y |

Give the meaning of ‘responsibility’ as an element of delegation.

8. TcHe BREARIT H T ATeh shl Y{HeRT T Ieeid hiTaIT |

State the role of ‘speed boss’ in functional foremanship.
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9.  IUNAT TV & AT TR-TTHRT Tl gRT Tv9d fohU S ot fohegl |
1T 1 Jooid hIFT | 3

State any three functions performed by non-governmental organisations

for consumer protection.

10. off 9 J20 T SF ok SRAT A | b A=D1 A9 AT H @I AT |
T 55 G & FAToh o AT €9 & AT T A L & o1 | 3T
M 1 SNIR qed ot Fafid &9 @ 9g W1 o1 | S 91 S 1 AR
T hl IO R 1T A7 | G HE0 ST o TR 39 o ¥ o S5
3T 1 Hod T | o 1 T fGWT T & A1 3¢ o oh 3T TG Hl
ferehr T o | 32 ST Tk et T et il et 3 38 ST o *
A | 5 e v fafaifora o & fow ser, @ & 3@ gefira @ 6 ot
T TohalT |

JRMIET 3T 1 Jod 40% ¢ AT TR G o 301 1 TR Jod T 7
FUE 2 T | 3 2 FUS T T ATH §IAT | 38 1 HS T 91 480 I §
fow it 1 e+ @9 w@ faw | vy wfafa wa ot 9 (@) gm
GfcTa T § Iudre Ud fHafid S o 918 39 AfiEaar s g g |
Taft I TS 2 9T AT SHIAT SR |

IH o8 ° UhAT l 3gd Fid g€ il GRI Heried foheel &1 st ol
TETT TS 3R Seci@ HIfT | 3

Mr. Sanjay Nehra was the Chairman of ‘Taran Bank.” The bank was

earning good profits. Shareholders were happy as the bank was paying
regular dividends. The market price of their shares was also steadily
rising. The bank was about to announce taking over of ‘Vena Bank.’
Mr. Sanjay Nehra knew that the share price of ‘Taran Bank’ would rise
on this announcement. Being a part of the bank, he was not allowed to

buy shares of the bank. He called one of his rich friends Sudhir and
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asked him to invest X 5 crores in shares of his bank promising him the

capital gains.

As expected the share prices went up by 40% and the market price of
Sudhir’s shares was now X 7 crores. He earned a profit of X 2 crores. He
gave X 1 crore to Mr. Sanjay Nehra and kept X 1 crore with himself. On
regular inspection and by conducting enquiries of the brokers involved,
Securities and Exchange Board of India (SEBI) was able to detect this
irregularity. The SEBI imposed a heavy penalty on Mr. Sanjay Nehra.

By quoting the lines from the above para identify and state any two

functions that were performed by SEBI in the above case.

11. ot g 919 foriiss Tewmgas & @t § ok fafie v & foege sam
1 A L T@ © | W3 H 9gd & A o1 R d&F e T & w®
g | I\ AU I 9, e srefi-ereft oot wr s, ot B R, @ gHem
0T G o ToTu e |
oo = T 56 3em # wsf yaen 3 fofa o & srfierr sues forar & @ o |
g% far e1oe e § fovara 78 wad & | 3ge ahmeesy R
FHHAAT HT Th-gi & TSN 1 THH &9 H T T 9T o | $9h BRI
R G TR o T e ht w7 2w & oft |
(27) Tt fordl @1 o et i UeEE FiSe e R foshes

TRETITSSIST 379 & oh TR =& ot o1 TET off |
(9) 3Wh (31) WM H qg= T YA S1e7 o YR H TH S S
EgueEaisi

Mr. Shubhendu Bose is the owner of ‘Bikmac Enterprises’ carrying on

the business of manufacturing various kinds of biscuits. There was a lot
of discontentment in the organisation and the targets were not being met.
He asked his son, Naval, who had recently completed his MBA, to find

out the reason.

66/1/2 6



Naval found that all decision making of the enterprise were in the hands
of his father. His father didn’t believe in his employees. As a result both
the employer and the employees were not able to understand each others
messages in the same sense. Thus, the employees were not happy and

targets were not met.

(a) Identify any two communication barriers because of which Bikmac
Enterprises was not able to achieve its target.

(b) State one more barrier each of the types identified in (a) above.

12. ‘TR ToTsSS fafide & foqum steger- oAmefiy, 39 Yerueh - WA a9
HTE HETEF Ja-eeh -1 § ot Bie o1 iy fomm |
FHIHT o &I FRHR] Y- 4 e G919 Jelgeh A1 hl Al 3R
394 Y T o 9% wred Bied @ gt @ieft 9l @l W | I8 gied wid
BT M o Garal G Toh IHAT ALES FHN AToh! dfed agd & g
forvaaia ® | afe weTgea # 38 S R T St o @t ey e
< | I FRERR] T4 6o [oTC T80 & T | AR TR ured 4 shid
Trepeed’ | groeh TR [eeie R TretuTgsil feAfiee’ o fTe fodue steasy
o g o1 oo foa | 3 roet o foTq Ok Sk TRt oht WXl ® avhel U |
WA % ek ug 1 Frfed § 3uctsy stuTfla wredarast Y Sie-wE ik W
fom |
(1) 3Tk Tk Tel 1 W % TIT “BR wretumgers fofiee” g wgeh ordlf %

HIdl o ATH Fa1sy |

(9) 3UTH TS T T o Tedeh Gl o Uoh-TUeh ATH o1 Seoid i IS | 3

Ashish, the Marketing Head, Raman, the Assistant Manager and Jyoti,

the Human Resource Manager of ‘Senor Enterprises Ltd.” decided to

leave the company.

The Chief Executive Officer of the company called Jyoti the Human
Resource Manager and requested her to fill up the vacancies before
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leaving the organisation. Informing that her subordinate Miss Alka
Pandit was very competent and trustworthy, Jyoti suggested that if she
could be moved up in the hierarchy, she would do the needful. The Chief
Executive Officer agreed for the same. Miss Alka Pandit contacted
‘Keith Recruiters” who advertised for the post of marketing head for
‘Senor Enterprises Ltd.” They were able to recruit a suitable candidate
for the company.

Raman’s vacancy was filled up by screening the database of unsolicited
applications lying in the office.

(a) Name the internal / external sources of recruitment used by ‘Senor
Enterprises Ltd.” to fill up the above stated vacancies.

(b) Also state any one merit of each of the above identified source of
recruitment.

13. TrasE i forel i Himreti s awesu |

Explain any three limitations of planning.

14. Th O STA Phawor T H foqoe w= @ oft, St gEeh! e IR
TTE%h! ol J&T Sl ST Tl Tolshd ST HaTaTi o SHR0T Sgd TG, o | o
TSR | Weh Ul shrot off 3T 3rcaferes oy SAfSia o W oft | arcaferes
A % HROT FEH J T -3uT= 1S W A 7 Sg T | 39k
YRy UTeshi o 1Y HHO o FaY TS & TC a7 a1 bt o J
FHE il B TS T T | IAHH SRR & AT AARE FH B W 3H
e 36k AR H Taf=ad g | ToreetoT 9t 3 qat =il ok fosraraaea densti
] I | TS TGAT USR] KO AT | 3Td: KA1 I ST shl 99/ | 79T
IR B9l GUHT FH  TI HH IR HH o fow ot g9a 3am
JTUATT | §Hh TTOTTHESEY FHTST 3 gf8 § ShraHt sht TATfd Fer 7T |
(31) STk aififa fefa o fomurrerm gra oot i s = gurs & foe ggws

TEINUT o AL 1 A FdTd g 3HAT 3@ hteIg |

(F) 9T (37) H Tg= TC ATEH i fHeRT o qHEsT |
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A company was marketing ‘water purifiers’ which were very popular
due to their quality and after sales services provided to the customers.
The company was a leading company in the market and earning huge
profits. Because of huge profits the company ignored the after sales
services. As a result its relations with the customers got spoiled and the
image of the company was damaged in the public. Top management
became concerned when the profits for the current quarter fell steeply.
On analysis it was revealed that ignoring the after sales services was its
reason. Therefore the company took all possible measures to protect and
promote its favourable image in the eyes of the public. As a result the

goodwill of the company improved in the society.

(a) Name and state the communication tool used by the marketer in the

above case to improve its image.

(b) Also explain role of the tool as identified in part (a).

15. il s’ 7 38 & T Use &7 #, S8l ®1 o agd wH HaR
3ueTsy ¥, Wie fmior it ueh Bt wenfud s ot foram | 39 @ &+
AT 9 Tt fafiee’ & 38 YA o w@mTa foRaT | St § A ol ki
T s1meRfia s & foTw ot 3 I oft Frota foren for et after o g,
STEIATSA, TSR ST St 5gd €t glaemd «f 3ucrse s st |
‘e fafiee’ 3 srcafies o srfSia e yres o fean | we e wfeanft
FFT T AU IS Yok FEH okl el fafiee’ g sifsia feeg s
T2 ITcATR ATH o T KT IdT T o ToAT et |
T J I TR ST & SRR § SeATeHe: 3evdl ohi W o g fafiem
forat & offer afed Tw-aa | e e i 9 91d © foR e foRaen
gfd ITER Td SaTeE 2 | shad 3T 3a41 2 ok 39k 9ied § 9viNur 9
TEET o HIIH ¥ &l BT © | STfch eIl fIfies’ FFwul i STEvahdigar
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ooft feemett # yarfed g &t s1gAfa yem &t 8, foo@ gemmet = iy
TETE BT 2 3T I off i T e S e |

(37) TS & 3G YR ! TLATHT ST TEIwor bt [eft fowmet # yanfed s it
‘Hiett fafiee’ =t rgufa ye@ a2 |

(§) W (37) H U= T ES % TohT o Th 3779 9 o1 3@ shiTg |

(|) T 3 ol 1 3Igw@ HIfee s Wi e’ gurs w1 aeifva e
T ® |

‘Steelo Ltd.” decided to set-up its steel manufacturing factory in the

backward area of Orissa where very less job opportunities were
available. People of that area welcomed this effort of ‘Steelo Ltd.” To
attract people to work in its factory it also decided to provide many other

facilities like school, hospital, market etc. in the factory premises.

‘Steelo Ltd.” started earning huge profits. Another competing company
asked its production manager ‘Aslam’ to investigate the reasons of

earning huge profits by ‘Steelo Ltd.’

Aslam found that in both the companies there was systematic co-
ordination among the various activities to achieve organisational goals.
Every employee knew who was responsible and accountable to whom.
The only difference was that in his organisation communication took
place only through the scalar chain whereas ‘Steelo Ltd.” was allowing
flow of communication in all the directions as per the requirement which
lead to faster spread of information as well as quick feedback.

(a) Identify the type of organisation which permits ‘Steelo Ltd.” the flow

of communication in all the directions.

(b) State another advantage of the type of organisation identified in (a)

above.

(c) State any two values which ‘Steelo Ltd.” wanted to communicate to

the society.
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16. Sent g1 BcA € ANYd 0T R A &1 | held! U IcTied erehd A1, i
Tor Tfee oo 1 fagm 61w fomneff 8, 3 e S 11 sfear @ ==
foram | fomaeh g0 98 F2-F=R | IAd $EF T ITAN K Il B W
STIHET T TS ITehT foehTE R | I Tk UHT & IR a1 forerma foram qen
7o foren frewmer g st foem B § wefdfa foram | 5@ stg@em & fo
34 I TR § FETHA foham T |
I ferfa & =i saraenfies wafawor & smamt o ye=nfie w@ g9emse | 4

A recent rate cut in the interest on loans announced by the Banks

encouraged Amit, a science student of Progressive School to take a loan
from State Bank of India to experiment and develop cars to be powered
by fuel produced from garbage. He developed such a car and exhibited it
in the Science Fair organised by Directorate of Education. He was
awarded first prize for his invention.

Identify and explain the dimensions of business environment discussed

in the above case.

17. ‘tew! fafiee’ s1em et & &F o & o T off | e ¥ 3 M
| AT AT TEhI ol TG o4 o fTe farfer T2t ot Amem shid o | SR
1 i o STTAR a1 TS STeTS R AT FHAAT 9T, STelfoh 3Geh! S0 TSH /I
ST AT Ll off | SO | ohad AT SHT TRIAT A1 JAMUg FHi-hft I i

AT TEE1 hl 3Tehat H ATAT St o ToTT HSTeR BIAT 9T o |

3ok TR, STfi9E HISATcH 3291 <hl UTH o feTu 39 TohR & &
e U I ST 3 A o | FEOH F G FRERT SURRY 59
TR H AT FAT | I A AT R AR, 39 fIwT H 3Tk A1 == hy
ot <t e Aifd s & | Tz ot foren men TR afasy § Jar wfea s
T Tk 1Y AT hidl AR AT o THY 1 GGUAN e & 91 UTeehi
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! 3 ST aTel! Sgfd ==l § I | 39 HehicHeh 9T 98T 3 W o
Yook &g o dH Ad1 g Sifesd atieh ¥ shid AT IR o e |

&I SRRl ATIHRT FRT TIH T4 o 13 o dcd ohl [RISarsti &1 3g@
T |

‘Alfa Ltd.” was dealing in renewable energy. To get the business, the

team leader and his team used to travel to different states to give
presentation to their clients. As per the policy of the company, the leader
used to travel by air, whereas his team travelled by road / train. It was
not only time consuming but also at time forced female team members

to travel alone.

As a result, the subordinates were not acting in a desired manner to
achieve organisational goals. The CEO came to know about it. He called
the team leader, discussed the matter with him and decided to change the
travel policy of the company. It was decided that all the members
including the leader would travel together in future and would usefully
utilise the travelling time in discussion with the subordinates about
presentation to be given to the clients. This made a positive impact and
every member of the team started acting in a manner as desired by the
team leader.

State the features of the element of the function of management used by
the CEO.

18. Yo o Tl o He o fohegl o) TorgaTi shl THSST |

Explain any four points of importance of principles of management.

19. foxfia ISR & &M &1 3g@ i |

State the functions of financial market.
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20. 70T TG Il Tk TgUER A0 H HRid | fUse il i @ 38 gEn
o | T8 35k Th ohl SIT= ol 75 a1 TaT AT foh 38 7] 7 3R 36k wicee hi
Tt oft Srga hH 21 S ® | T 3 STEAATA H el AT T T SRl A
3Gl Th TQH hl TATE <1 | 39k Teh @reft 9 3ueh Tfeehrl “oft IrEor i
3okl Wk Terfad g €| ‘o AR 3 qid € wed % gt st w5
3T o TTT TH-3M & 31 AT FAd §¢ T TaaRad =1 &1 | 59 &
Telrgeh ohl 38 TS | TaT IAT @1 IUH RO THET R TS TR a
STTIUTE 3 & <hl TEHTE 1 AT e |

(37) ST I8 ¥ 3Igd Fd TC MU= TF =G T §
Traf-ad ufr ot 3ha iR |

(9) ST Trymo i foRegl &t forsraret &1 oot il |

(|) IRk itfeafa o aure 1 aeafya fore S aret foreel a1 geant <t ue=m
I | 5

Arun i1s working in a multinational company in Gurgaon. He was

running temperature for the last many days. When his blood was tested,
he was found positive for dengue with a very low platelet count.
Therefore, he was admitted in the hospital and a blood transfusion was
advised by the doctors. One of his colleagues sent a text message about
it to his immediate superior ‘Mr. Narain’. ‘Mr. Narain’ in turn sent a text
message to the employees of the organisation requesting them to donate
blood for Arun. When the General Manager came to know about it, he
ordered for fumigation in the company premises and cleanliness of the
surroundings.
(a) From the above para quote lines that indicate formal and informal
communication.
(b) State any two features of informal communication.

(¢) Identify any two values that are being communicated to the society
in the above case.
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21. @98 94 AY 7 QI itk § oot ferft off i | 3ud e wwa as T,
3R 9 L&A1 S aTelt Th a1 | i foham | 98 36 o] | g ) off
3R 39+ I8 o fomn fof a8 36w ol 1ot U o @ Srenfieh!
TSRHUT RIS TATUA R | 35 33 UF aed eifia fopu ofi 38 wma &
I T -FTSATE TS |
3R Ueh 3299 YoH I8 | fafrafsa ufst @ 10% e 1fSia @1 oan | 38
Tota foran e fo o Ut S %A, Afestal, TET 3T o9 W Shi 3R
T had Afeh O ITH a1 foram 8 &€ @ilie S | 359 I8 +ft iy
fora fop Tart <l g o W= © 3cdTal o ToquM o fore |sft sTrarwareh =om
T UTeH foRaT SITQT | 38 3caTed Yeiwersh o &9 H Higd o e foran foram
3cqre feranett 1 fsuifed v & fAutfa adient =1 oft faofs fomm | @em A
Y R H et T T ST ATt HAATT shl T i YeiRia e arer foewo
off G o | 1T areft Jurfaeht & fore Ae 3 e 1 amgen fafie st
% U A o 9R H off g fRan | e 99 W FE d 99 2,
TEAH AT T 1 98 W T 100 Tl o At sht =on «off i 7 |
IH FT=oe ¥ UIHAl ol 3Gd FAd gC T8H aAUIq fola ASHISAT & TR
I TEH I T 37 TSy |
Two years ago Madhu completed her degree in food technology. She

worked for sometime in a company manufacturing chutneys, pickles and
murabbas. She was not happy in the company and decided to have her
own organic food processing unit for the same. She set the objectives
and the targets and formulated action plan to achieve the same.

One of her objective was to earn 10% profit on the amount invested in
the first year. It was decided that raw materials like fruits, vegetables,
spices etc. will be purchased on three months credit from farmers
cultivating organic crops only. She also decided to follow the steps
required for marketing of the products through her own outlets. She

appointed Mohan as a Production Manager who decides the exact
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manner in which the production activities are to be carried out. Mohan
also prepared a statement showing the number of workers that will be
required in the factory throughout the year. Madhu informed Mohan
about her sales target for different products, areawise for the
forthcoming quarter. While working on the production table a penalty of
X 100 per day for not wearing the caps, gloves and apron was

announced.
Quoting lines from the above para identify and explain the different

types of plans discussed.

22. THa=o1 gfskan & =T sl gHEEY| 5

Explain the steps in the controlling process.

23. ‘g fafiee’ e domerga fmivft et 8 | gweht 31w OS5t T 60 @ B |
foeet ad gEeh! Ui o7%1 3 % 0.50 off | fafadferwn & fow weaft &1 ¥ 40
arg Afafc gt i TravasRar ot | 38eh foe et 9 10% soras feifia
ek Tord waRia fora | =me ad @ st 3 fafa=nfsa St w2 8 or@ @y
TfSia foram | 67 40% 31 X | T A fohar |

(31) 3g@ Hhitve Tor Tafaefieron W Tl i 9id 3791 3™ § A1 gaT
A TTH TS | ST OIS I T8 €9 § ST

(&) 11 & 35k YSi BTl o W o ®9 H HF0HT R 09T oh 1A o uat |
foregl i hrent 1 3g@ oft hifSTw | 6

‘Viyo Ltd.’ is a company manufacturing textiles. It has a share capital of

% 60 lakhs. The earning per share in the previous year was X 0.50. For
diversification, the company requires additional capital of ¥ 40 lakhs.
The company raised funds by issuing 10% debentures for the same.
During the current year the company earned profit of I 8 lakhs on

capital employed. It paid tax @ 40%.
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24.

25.

(a) State whether the shareholders gained or lost, in respect of earning

per share on diversification. Show your calculations clearly.

(b) Also, state any three factors that favour the issue of debentures by

the company as part of its capital structure.

SfITHT 3 T gET Y g A THTel UiE Y Ush Sl @il | S 9T dl

TS g Tg 9 oft | 3T U ek 98 W B TS | IURRT TE

st & saiid 399 fore wRE 8§ W anfent o sl 3 38 Ted fid

TS |

(31) 3Tk feufd o 39 WEwOqYl Ueq] 1 UETHC el foduEeRdl g
faee il TR

(9) 3IYUH () H Tg=H T U] o HIAl 1 H&T H JU hIIT |

Ashima purchased a bottle of tomato-sauce from the local grocery shop.
The information provided on the bottle was not clear. She fell sick on
consuming it. She filed a case in the District Forum under Consumer

Protection Act and got the relief.

(a) Identify the important aspect neglected by the marketer in the above

casc.

(b) Explain briefly the functions of the aspect identified in (a) above.

Toeer <1 Terel =R faRIwdTaTi sl 9Hesy |

Explain any four characterics of management.
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